Bellwork Monday, March 3, 2014

15. Which graph best presents the following system of

equations and its solution?

x+y=4
x-y=0

22. If the range of f(x) = x* + 4 is all real numbers from 13
to 29, what positive numbers lie in the domain of f(x) ?

F. 3<x< 5
G. 5<x< 21
H. 9<x< 25
J. 13<x< 29
K. 173 <x<845
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Iff(x)=2x+7, g(x) =3x-35, and h(x) = 2x + 6, then
h(x)+[f(x) - gx)]-6=7?

F. 7x+2

G. 7x+8

H. 6x’+13x— 29

J. 6&*+13x- 35

K. 12x* - 5x—143

LA f(x) = % what is the y-intercept of the graph of
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